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Solving Multi-Step Equations

Distributive With Parentheses - Negative Coefficients

Date:

[~ Solve the equations.

(1)

(3)

(5)

(7)

(9)

95 = -7X + 5(3x + 3)

5X - 6(X + 4) = -18

-5X - 4(-4x + 3) = 87

79 = 5X - 2(7x - 8)

3X + 2(2x + 8) = -68

(2)

(4)

(6)

(8)

(10)

-2X + 4(2x - 3) = 54

54 = 2X - 2(-5X - 3)

“4x + 7(2x - 2) = -84

40 = “2X + 2(4x - 7)

-5X - 2(-6X - 2) = -66
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[~ Solve the equations.

95 = -7X + 5(3x + 3)
95 = -Tx + [5x + [5

(1)

95 = Bx + [5
80 = Bx
[0 =X

5X - 6(x + 4) = -18
5k — 6x — 24 = -/8
-x — 24 =-1/8
-X =6
XxX= -6

(3)

-5X - 4(-4x + 3) = 87
“5x + [6x - 2 = 87
[Ix = 12 =87
[Ix =99
Xx =9

(5)

79 = 5x - 2(7x - 8)
79 = 5x - [4x + [6
79 = -9x + [6
63 = -9x
T7 =y

(7)

3X + 2(2x + 8) = -68
3x + 4x + [6 = 68

(9)

Ix + [6 = -68
Tx = -84
X= (2

Solving Multi-Step Equations

Distributive With Parentheses - Negative Coefficients

ANSWER KEY

(2)

(4)

(6)

(8)

(10)

-2X + 4(2x - 3) = 54
-2x + 8x - (2 = 54
6x — /2 = 54
6x = 66
x= [/

54 = 2X - 2(-5X - 3)
-54 = 2x + [Ox + 6
54 = [2x + 6
-60 = [2x
5 =

“4x + 7(2x - 2) = -84
“hx o+ Ihx - (4= -84
[Ox — [4 = -84
[0x = -70
x= -7

40 = “2X + 2(4x - 7)
40 = -2x + Bx - 4
40 = 6x — 4
54 = 6x
= x

-5X - 2(-6X - 2) = -66
“Sx 4+ [2x + 4 = -66
Ix + 4= -66
Tx = -70
x= /0
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